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This question paper contains two parts A and B.

Part A is compulsory for all.

Part B has two options — Option-1 Analysis of Financial Statements and Option-I11
Computerized Accounting.

Attempt only one option of Part B.

All parts of a question should be attempted at one place.
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gug —-h
PART - A

(@S GHT qT St % e araie)

(Accounting for Partnership Firms and Companies)

1. e % &Y % ER W CHRRN % [oHe” T “WRR w1 % [aEeT” H 3R
T |
Distinguish between ‘Dissolution of partnership’ and ‘Dissolution of partnership firm’
on the basis of court’s intervention.

2. OO MY BT T & [T HEAT ATaFEE, 2013 o WO 6l Sooid Hify |

State the provisions of Companies Act, 2013 for the creation of ‘Debenture Redemption
Reserve’.

3. 15-1-2016 & = fvgar fafee g fifaa fohw 7TT 10,000 T9aT 39T W 3 4 Wi 3797 &t
T FTEAT T ST &1 TS | 500 3790 % Ueh ¥Reh ST = Trd e AT 1 e el 6 |

600 3797 T Th YR =T = UIT AT o A 3T 3 Ui 39T Bl GO q&qT A AT
TRT T ST off Y Tz |

FHIT Tt GEIRT H “STRA-ATEAT AT YA AT WA Tiotd gU, W g=R1eT § graf-e
3T ST Tidfte T |

On 15-1-2016 the first call of X 4 per share became due on 10000 equity shares issued
by New India Ltd. Aman a holder of 500 shares did not pay the first call money. Shanti
a shareholder holding 600 shares paid the second and final call of ¥ 3 per share
alongwith the first call.

Pass the necessary journal entry for the amount received by opening ‘Calls-in-arrears’
and ‘Calls-in-advance’ account in the books of the company.

4. ST TAT T UH HH F WERR & qAT 4:5 % U H AN dfed & | 31-3-2015 I A g
U ‘37 7T 19,000 T STET HAT | <37 o STV WX &1 T 700 T |

Ig A gU 6 WERRE @ OSi WE of, 37 % STERU W AN o % ol STavash
ST Wiafte HifeT |

A and B were partners in a firm sharing profits in the ratio of 4:5. During the year
ended 31-3-2015 A withdrew ¥ 19,000. Interest on A’s drawings was I 700.

Pass necessary Journal entry for charging interest on A’s drawings assuming that the
capitals of the partners were fixed.
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5. 3T AMIH 1 AW Iq1EE NES ST FWERRT B o had HSET o WeH har T
T | TH AERr wH ° ifushay fedd 9 8 9ehd § 9 1

Name the Act that provides for the maximum number of partners in a partnership firm.

What is the maximum number of partners that a partnership firm can have ?

6. M, T T e Uk &Y % URRR o 991 5:3:2 & U § @ §ed o | 3H o &
S T % FeT 8 1 T T WA S B S T o e 4 32 o &

feraT | T, TIeAT, T T &3 o T3 ¢ SISl TUMT it | 1

Ram, Mohan and Sohan were partners in a firm sharing profits in the ratio of 5:3:2.

1th
They admitted Hari as a new partner for 3 share in the profit which he acquired from

Ram and Mohan in the ratio of 3:2. Calculate, the new profit sharing ratio of Ram,
Mohan, Sohan and Hari.

7. WERR H % YAed W Siadl 99T SAarstl o g edi a1 fRaT ST |meT 2 SIMI0T S
TU 98T § gHEET | 3
Why should assets and liabilities be revalued on the reconstitution of a partnership

firm ? Explain briefly giving examples.

8. @ fafmes A &, feafiee &t T 14,00,000 i Fwfaai @ T 4,00,000 T AT I TR0
%9,19,000 § a1 1 ¥ 17,000 T T G, A o Ul § <7 Uh o IR b §RT 1B
T AT I T PTA G, TS & et § ¥ 10 Wi 3197 o AT 9 B 10% F AN W
it ek Topam = | 3

SWRIFT THHAT o 1T &, fAtaee ot Jodehl | STevaeh IS Hiarear iy |

‘B’ Ltd. took over the assets of ¥ 14,00,000 and liabilities of ¥ 4,00,000 of C Ltd. for a
purchase consideration of ¥ 9,19,000. ¥ 17,000 were paid by a bank draft in favour of

C Ltd. and the balance was paid by issue of equity shares of ¥ 10 each at a premium of
10% in favour of C Ltd.

Pass necessary journal entries for the above transactions in the books of B Ltd.
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9.  FIgaHI Hl ISTIR UG HA & AdT ARG % Uk USS &7 & [aeprd &q S o Uk et
WM % GHIT €, g9t Giel TSI [AiHes 5 500 e &9dT ol Ush Gl i e 1 o
foan | uRasr & fod oo & FA 7 210 T % 10,00,000 TEAT 3 70% &
ey WX R S 1 o TR 1 17,00,000 39T & fofw 3tres ot g 1 5,00,000
39TF o STERAT i IE Y AT T qAT AR A R S TS | I STEKHT Sl ST 3R
TR 39N T e foRaT AT | WU 3797 AR T PIA SMATH & FHT 37 AT |

SIS THIAT & [T H- 6f q&dshl o 3Tavdes AsHrme Ufaftest Sifie aer od
fehmel 3T Aol ot UgaT ShifsTU FST=¢ SHPo=T AT bl Ui heT =Rt & | 3

To provide employment to the youth and to develop a backward area of
Jharkhand which is near one of the coal mines, Thermal Power Energies Ltd. decided to
set-up a Thermal Power Plant of 500 mega watt capacity. The company decided to issue

10,00,000 equity shares of ¥ 10 each at a premium of 70% to finance the project.
Applications for 17,00,000 shares were received. Applications for 5,00,000 shares
were rejected and money refunded. Shares were allotted on pro-rata basis to the
remaining applicants. The whole of share money was payable on application.

Pass necessary journal entries for the above transactions in the books of the company
and identify any two values which the company wants to convey to the society.

10.  1-1-2016 & 2L.3RF, s 3 T 100 9&F & 767, 9% FOAT H FHmT fHar | =
IRIITTE | FOTE & M o AT STavaeh ST Hiaieat iy 3
(@) ST 0T B T 3% o S U {RAT AT 4T ST SN 7% o SIe W fshar

ST |
(@) ST HOET BT T 4% S AT TR fRAr T a9T 3T I 9% o AT I
FATE |

TRK Ltd. issued 767, 9% debentures of ¥ 100 each on 1-1-2016. Pass necessary journal
entries for the issue of debentures in the following situations :

(a) When debentures were issued at a discount of 3% and were redeemable at a
premium of 7%.

(b)  When debentures were issued at a premium of 4% and were redeemable at a
premium of 9%.

11. &1 UE UH FH & GERR I qd1 7:3 & | | o dfed & | 1-4-2014 1 38H o &
%ﬂmévﬁquﬁ.aﬁwwmﬁmwws@? 60,000 % T T MRS I T | T, qAr

TS, T 41 ST 3TUT Ygel ST T | W= ST, ol TRl % HROT g5 Tl off et &t of 3.7
% ST | 8 e T TeHd §U | 31-3-2015 T A gC a9 § ®H = T 2,70,000 T &
3t fepam |

31 1€, 2015 1 GHIE g a9 % feIT S, U, a1 S, o1 -8l fai-aist @rar oar Histg | 4
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E and F were partners in a firm sharing profits in the ratio of 7:3. On 1-4-2014 they
admitted G as a new partner for 1/5" share in the profit with a guaranteed profit of
% 60,000. The new profit sharing ratio between E and F will remain the same but they
agreed to bear any deficiency on account of guarantee to G in the ratio of 3:7. The
profit of the firm for the year ended 31-3-2015 was X 2,70,000.

Prepare Profit and Loss Appropriation Account of E, F and G for the year ended
31-3-2015.

12. i, Sar 91 Har U B S ERR oA 99T 5:3:2 % U | ot dfedt o | wH STuH
TETh W Y 31 WY Bl T BT & | 30-6-2015 i TAT BT g1 & T | 37 T i 39
GSft @ ® T 5,000 1 AT I o7 qATBH H @AM B Fodihd T 3,70,000 fRAT WA |
AN T § T 12,000 T A I 47 | GF b a9 H Tl b AT DI M0ET UDed 5 96t
3T T & SR WXl ST ST fof € 80,000 o |

T o e O H ! GEhl | e ST Hoftedt Hif | 4

Geeta, Sita and Meeta were partners in a firm sharing profits in the ratio of 5:3:2. The
firm closes its books on 31* March every year. On 30-6-2015 Geeta died. On that date
her capital account showed a debit balance of ¥ 5,000 and Goodwill of the firm was
valued at ¥ 3,70,000. There was a debit balance of I 12,000 in the profit and loss
account. Geeta’s share of profit in the year of her death was to be calculated on the
basis of the average profit of last 5 years which was ¥ 80,000.

Pass necessary journal entries in the books of the firm on Geeta’s death.

13.  OF. 991 ST U ®H % WIERR & a9 7:4 % T H o sied & | 1-1-2016 T ST BH H
fareest &1 T | Il (RS S BIgH]) T 9 SAarst S ael! @i H IR S 6
T SATIeRT T T I ST F 6

@) ¥ 3,90,000 F TF TRR, FAR = T 7,00,000 JoF T 9ol THHR AT T2T 9 79T 61

~

AT HH T Tk o FRT T T |

@) ¥ 2,83,000 % TH TH IR, FHH 7 T 3,00,000 T GoI Sl A i 379 319 6
quT Fer ® ¥ 2,80,000 H iR T |

@M ¥ 5,00,000 F TH TG @8R, BRI = 310 I % quT HueR &q T 4,10,000 & o=
a1 T 89,000 T U b FTHE WHHR fHT |

() faEeT e 3 2,200 9 |
SURIKT a1 % [eTT TH ol JETehl § ST ST Wit Hifsw |
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P and G were partners in a firm sharing profits in the ratio of 7:4. On 1-1-2016 their firm
was dissolved. After transferring assets (other than cash) and outsiders liabilities to

realization account you are given the following information :

(@) Kumar, a creditor for ¥ 3,90,000 accepted building at I 7,00,000 and paid the

balance to the firm by cheque.

(b) Karan, a second creditor for I 2,83,000 accepted machinery of the book value of
% 3,00,000 at T 2,80,000 in full settlement of his claim.

(¢) Kishor, a third creditor for ¥ 5,00,000 accepted investments of I 4,10,000 and a
bank draft of ¥ 89,000 in full settlement of his claim.

(d) Loss on dissolution was I 2,200.

Pass necessary journal entries for the above transactions in the books of the firm.

14, wH, 2t 91 g UF BH & WERR & T AR 4:3:3 & U H ated & | 31-3-2015 H
ST et ToaRot et o
31-3-2015 i TH,, & 7T G, %1 feafer faawon

- s et ity

4 4
TRR 73,500 | 9= 2,70,000
= foet 16,500 | & 1,35,000
HqE o 1,05,000 | wiie 95,000
it : i 37,500
e} 2,50,000 TR 30,000
2. 50,000 EED 7,500

7 80,000 | 3,80,000

5,75,000 5,75,000

1-4-2015 ¥ 3 9ia=T | o sRIeR-aIeR sie+ 1 o foran | 59 fofe g8 Foig ferar
%b_:
() Y @ = H geEs T 90,000 T S|
(i) 9 1 g  3,00,000 TR fHAT ST @ 961 W 10% Tedetd o ST |
(iii) ¥ 7,500 % AR STUAT AT UK Fal T 37d: T STUfeAEd e AT ST AT |
IS T, WTEIRRT & USTt @I T Jied & o fefd foaror dar it |
67/2/3 6




S, T and U were partners in a firm sharing profits and losses in the ratio of 4:3:3. On
31-3-2015 their Balance Sheet was as follows :
Balance Sheet of S, T and U as on 31-3-2015

Liabilities Amount Assets Amount
®) ®)
Creditors 73,500 | Land 2,70,000
Bills Payable 16,500 | Building 1,35,000
General Reserve 1,05,000 | Plant 95,000
Capitals : Stock 37,500
S 2,50,000 Debtors 30,000
T 50,000 Bank 7,500
8] 80,000 3,80,000
5,75,000 5,75,000
From 1-4-2015 they decided to share future profits equally. For this purpose it was
decided that

(i)  Goodwill of the firm be valued at ¥ 90,000.

(i) Land be revalued at ¥ 3,00,000 and building by depreciated by 10%.

(iii) Creditors X 7,500 were not likely to be claimed and hence be writtenoff.

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of the
reconstituted firm.

15.  1-4-2013 it el fafHee & % 100 3% % < 50,00,000 9% FOTH 37T & |

() 1-4-2014 = FEOAT § Gt IR F @F % 25,000 FOTET FH HT T 99 U FOTIA i
T Y foram aoT 3¢ T 3E A |

(i) 1-4-2015 " FEA T TH ARY R T 10,00,000 F FOET H I THIT T
TR |

(iii) 1-1-2016 % FA T AT FOMOEH FT HT T 14,99,000 T fHAT qAT T TR 7 F
feam |
T INE BT TAT FOTIA T AT I WA H T ol §U, SIS sl o foTT e

I JEIRT | ST AT Ul Hite | 6

On 1-4-2013 Kaka Ltd. had ¥ 50,00,000, 9% debentures of ¥ 100 each outstanding.

(1) On 1-4-2014 the company purchased in the open market 25,000 of its own
debentures for ¥ 99 each and cancelled the same immediately.

(i) On 1-4-2015 the company redeemed at par debentures of ¥ 10,00,000 by draw of
lot.

(ii)) On 1-1-2016 the remaining debentures were purchased for ¥ 14,99,000 and were
cancelled immediately.

Ignoring debenture redemption reserve and interest on debentures pass necessary

journal entries for the above transactions in the books of the company.

67/2/3 7 [P.T.O.



16.
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Sug. fafes 7 T 10 v8% & 80,000 FHAT 37°0 1 T 6 Wi 3191 o WiHaw 9 HifHa
% TT 3Tree mmi=a [ | qfer 71 U 9 23 ot -

3METH WX — T 4 Wi 37T (3 1 Ui 3191 Wiy gfea)
e W — T 6 U 3797 (T 3 Wia 39T o UitHa™ dled)
TIw a7 A e W — 99

1,60,000 373t & foTw 31rei= Wt gU | 40,000 37T & {70 31ae=i 1 37 &< fear mar
AT 3TERA T SMUF T Y TS | 9T TR T SFANAR LR T 3790 1 2Meie fopar
T | 3R R T SAAReR TRT B THESH e W 37 9T H Y fofdr T | 400 ST
%GR T F 3TEH RT HT FIA Fal 6T | STee & o I 39k S0 1 80T ]
foram T | 39 TvEr SARAH AT 'R T | AR, e 1200 ST % fAU SeE TR o,
=TT FTET BT I HH H 3TAEeT &1 | SHb 3190 1 A g07 &Y fotam | &<y fopd 1
39T | | 500 3791 &l T 8 Uid 3797 YuT Uew YA Fifea o fean | o fitha ofem | T
% 0T fohal TR Tt 37T Wimferd o |

SIS AT & fofT g, fafade o T § afevas IsTmen ufafeat Sy |

JS Ltd. invited applications for issuing 80,000 equity shares of ¥ 10 each at a premium

of ¥ 6 per share. The amount was payable as follows :

On application — X 4 per share (including premium X 1 per share)
On Allotment — X 6 per share (including premium 3 per share)
On First and Final Call — Balance.

Applications for 1,60,000 shares were received. Applications for 40,000 shares
were rejected and application money refunded. Shares were allotted on pro-rata basis
to the remaining applicants. Excess money received with applications was adjusted
towards sums due on allotment. Raman holding 400 shares failed to pay the allotment
money. His shares were forfeited immediately after allotment. Afterwards the final call
was made. Veer who had applied for 1200 shares failed to pay the final call. His shares
were also forfeited. Out of the forfeited shares 500 shares were re-issued at I 8 per
share fully paid-up. The re-issued shares included all the forfeited shares of Raman.

Pass necessary journal entries for the above transactions in the books of J.S. Ltd.

3gar/ OR
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RS Ltd. has issued 25,000 equity shares of I 10 each at a premium of ¥ 2 per share
payable with application money. The incomplete journal entries related to the issue are
given below. You are required to complete these blanks.

BOOKS OF RS LTD.
JOURNAL
Debit Credit
Date Particulars L.F. | Amount | Amount
®) ®)
2015,
Jan. 10 | ....... Dr. | | ...
To...ooooe. .
(Application money received for 35000 shares @ X 5
per share)
O 1 T Dr. | | ...
TO e
TO e
TO e
TO e
(Transfer of share application money to share capital
a/c, securities premium a/c, refunded for 4000
shares for rejected applications and balance to share
allotment as shares were allotted on pro-rata basis)
731 | e, Dr. | | ...
To oo
(Amount due on allotment @ X 4 per share)
Feb.20 | ................ Dr. | | ...
To e
(Balance amount received on allotment)
April O1 | .....ocoeeni Dr. | | ...
To oo
(First and final call money due)
) | I Dr. | | ...
Calls-in-arrears a/c Dr. | | ...
TOo v
(Money received on first and final call except on 500
shares)
Aug. 27 | oo Dr. | | ...
To ooevieees
To oo
(Forfeited the shares on which first and final call
money was not received)
Oct.03 | .ooeviiiennnn. Dr. | | ...
................ Dr.
To e
(Re-issued the forfeited shares @ X 8 per share fully paid-
up)
........................ Dr.
To e
(e )
67/2/3 10




17. T, R T IR, Uh ®H o TRRR & 727 3:2:1 & FId | o dted & | 31-3-2015 Ff

3T et faraRoT f eh 9 o 8
31-3-2015 ¥ W, &, q9T AW, 1 Feafer faaron
s s
FaTt Tt
4 4

TTRR 2,52,000 | 5% 51,000
= G 63,000 | SRR 69,000
it : i 3,30,000
@ 1,80,000 foqerer 90,000
. 1,20,000 AR 30,000
3. 60,000 | 3,60,000 | FEI=RT 1,05,000
6,75,000 6,75,000

TR T i T, 1 Teh a1 WEIER ST 71 a1 9 o forar & 6
(i) Ot 9, ST, TAT TH, FH 74T o A 2:2:1:1 BT |

(i) T I T BT Geais 3 2,70,000 AT AT T4 T, ST 91T ST @A WiHad e
AR |

(i) et T SR 9o ¥ 64,000 o1 |
(iv) TR =t % 87,000 e A fohaT STRAT |
(v)  T9,000 T U THIR 10T STET UT el BT 37 Y SUTeirad fohar ST |

(vi) T, T 5 S 3 e e

JHCR T, WIEIRRI & UsTl @I o7 1., 9, 3R, T47 TH, T R foraror aam
HIT |

67/2/3 11 [P.T.O.



P, Q and R were partners in a firm sharing profits in the ratio of 3:2:1.

67/2/3

On 31-3-2015 their Balance Sheet was as follows :

Balance Sheet of P, Q and R as on 31-3-2015

Amount Amount

Liabilities Assets
4 4

Creditors 2,52,000 | Bank 51,000
General Reserve 63,000 | Debtors 69,000
Capitals : Stock 3,30,000
P. 1,80,000 Investments 90,000
Q. 1,20,000 Furniture 30,000
R. 60.000 | 3,60,000 | Machinery 1,05,000

6,75,000 6,75,000

On the above date S was admitted as a new partner and it was decided that :
(1)  The new profit sharing ratio between P, Q, R and S will be 2:2:1:1.

(il)) Goodwill of the firm was valued at ¥ 2,70,000 and S will bring his share of

goodwill premium in cash.

(iii)) The market value of investments was 3 64,000.
(iv) Machinery will be reduced to ¥ 87,000.

(v) A creditor of ¥ 9,000 was not likely to claim the amount and hence, to be

written-off.

(vi) S will bring proportionate capital so as to give him 1/6™ share in the profits of
the firm.

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of P,
Q, RandS.

3gar/ OR
12



%, T qAT 7T Teh H & WIEIRR & q4T 5:3:2 & A § A died & | 31-3-2015 i Sh
Tt faaor fe=1 wepre & o

31-3-2015 =1 &%, & qAT 7T 1 Ferta faawor
s s
FaTe Tt
4 4

TRR 63,000 | i T Yo 1,86,000
fereT SAR-=g@ W | 30,000 | AT o 60,000
foyerer 57,000
A g @ 1,20,000 | TR 36,000
et i 45,000

% 1,50,000 TR 1,20,000
@ 1,20,000 TIWEEE 9,000 1,11,000
T 60,000 3,30,000 | THE 48,000
5,43,000 5,43,000

STRISRT ffer 1 @ = TR Tl X Tl qgm & a1 1 = e 91l I SHadra sl 9]
T i1 i forar

(1) 9 = @i 1 geais 3 1,53,000 fFar mar |
(2) T HOT & oIt werem &t T 3,000 ¥ FH HLAT T |
(3) AR &fdyfd & T 12,000 T T @7 4T |

(4) @ H T 24,600 F TE JIAH [HAT TR TAT AT H SRR 366 F0T @I H HL
fea ST, AT AR 9R SXER At [RRAl B 10% U a9 S % e e
ST |

(5) & A1 % HeA TAT AN A 3:2 BT AT 3R YA IAh AT NN ST H BN
STt TS =16l @I @ieTehd [ohal TR | JAYedish- QT WIRRRI & Ysit @t dqem
o T T 1 747 fefq fgerer qar Sy |
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A, B and C were partners in a firm sharing profits in the ratio
On 31-3-2015 their Balance Sheet was as follows :

Balance Sheet of A, B and C as on 31-3-2015

Amount Amount
Liabilities Assets
® (9]
Creditors 63,000 | Land and Building 1,86,000
Investment Motor Vans 60,000
Fluctuation Fund 30,000 | Investments 57,000
Profit and Loss 1,20,000 | Machinery 36,000
Account
Capitals : Stock 45,000
A 1,50,000 Debtors 1,20,000
B 1,20,000 Less : Provision_9,000 1,11,000
C 60,000 3,30,000 | Cash 48,000
5,43,000 5,43,000

of 5:3:2.

On the above date B retired and A and C agreed to continue the business on the

following terms :

(1) Goodwill of the firm was valued at I 1,53,000.

(2) Provision for bad debts was to be reduced by I 3,000.

(3) There was a claim of ¥ 12,000 for workmen compensation.

(4) B will be paid ¥ 24,600 in cash and the balance will be transferred to his loan

account which will be paid in four equal yearly instalments together with interest

@ 10% p.a.

(5) The new profit sharing ratio between A and C will be 3:2 and their capital will

be in their new profit sharing ratio. The capital adjustments will be done by

opening current accounts.

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of A

and C.

14



Qque - g
PART - B
fawea - 1
Option -1

(fareitar feraeutt &t faverom)

(Analysis of Financial Statements)

18. A, fafee & AT T & SR UR Tk T 31 363 Thar | 31-3-2015 1 T a9
% faT & 7 T 4,00,000 Hf T fREd 1 TaE R, [EE T 4,000 1 ST Ao
o | g VAT ToeR0T R X T fhee ol T o6 Tidtate steran niatatemr & s
CUIETREDIEE DU 1

L Ltd. had purchased a machinery on deferred payment basis. During the year ended
31-3-2015 the company paid an installment of ¥ 4,00,000 which included interest of
% 4,000. Under which activity or activities payment of installment will be classified

while preparing Cash Flow Statement.

19. ‘T Y Uil T K0T BT GRUT SHS q4T SR o 3299 & R Tohall &, UG feafad 9 3
o fosha & forg erfuveor o6 T Wi % TEE B § T 98 e WEl € 2 Uhg e
a1 TR e TH 39 AT § g3 A VATE [ohd WehIX i T & ST aiighd
[ERIS I 1

‘An enterprise may hold securities and loans for dealing or trading purposes in which
case they are similar to inventory acquired specifically for resale.” Is the statement
true ? Cash flows from such activities will be classified under which type of activity

while preparing ‘Cash Flow Statement’.

20. (%) HEHA AEFEE, 2013 H G 11 3 STER INF “STHeA-JHrda o STd q9ar ST
el feheel IR H&T s gat ST | 4
(@) Uh HA! & fomia faeron & faveioor st frel 31 Dt 1 Seoig i |

(a) List any four items that are shown under the heading ‘Non-current Assets’ as per
Schedule III of the Companies Act, 2013.

(b) State any two limitations of financial statements analysis of a company.

67/2/3 15 [P.T.O.



21. (%) oHIEE S LA B T I 2

@) SuA. fafee & faxda foerel @ a7 gamT & SR W SISt STER0T ST’ i
AT ST -

Y 9T IF o T 2,00,000 ; 12% rE-37ae 3707 T 40,00,000; FIX40% 2+2=4
(a) What is meant by ‘Liquidity’ of business ?

(b) From the following details obtained from the financial statements of JN Litd.
calculate ‘interest coverage ratio’.

Net profit after tax ¥ 2,00,000; 12% Long-Term Debt % 40,00,000; Rate of tax 40%.

22, 31-3-2015 1 FHIE gT a9 % o0 121, fataee o o1 foeror = v & 4
A= 31-3-2015 31-3-2014
faazor )
q, . 7
HEHA G 3AH 75,00,000 34,00,000
T I 1,50,000 3,00,000

FHHAR! TEqemT 2T — Fet H - -
T 60%

I g — HHAR] fede =g - -
<l 10%

P 40% 50%

T2, fAtee o1 TESl-areR U UAST T ST hich 3T [aaRuT YR & UTHIOT &=
H AT € | 38 U Tiet © B g U % I1eX Dl ST el Ush Geh o [FHI0T Bl T ot
TIE & | Heh o 0T § gg TIEE @il 1 ST SN q9r S G st USRS |

U T em-E faeRer 9SSl fefbes S g Tl foeReT JaR ShifsTy aer
ferel 31 et ol gear ot SifsTe 5776 SHroet TS ol Ufd e =medt & |
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Following is the statement of Profit

and Loss of DD Ltd. for the year ended

on 31-3-2015.

Note 31-3-2015 31-3-2014

Particulars

No. ® ®
Revenue from operations 75,00,000 34,00,000
Other Income 1,50,000 3,00,000
Employee benefit - -
Expenses — 60% of total - -
revenue
Other expenses — 10% of
employee benefit expenses
Tax Rate 40% 50%

The motto of DD Ltd. is to produce and supply green energy in the rural areas of

India. It has also taken up a project of constructing of a road that will pass through five

villages, so that these villages could be connected to the nearby town. It will use the

local resources and employ local people for construction of the road.

You are required to prepare a comparative statement of Profit and Loss of

DD Ltd. from the given statement of Profit and Loss. Also identify any two values that

the company wishes to convey to the society.

67/2/3
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23. 31-3-2015 & TG.UH. fofee = et faeror = g 9 or -

TH.UA, fafes 31-3-2015 it ferfa faawor
P - 31-3-2015 | 31-3-2014
4 4
[ AT AT 9T
(1) STt At
(37) 37er i 2,50,000 2,00,000
() G Ud 1 1,00,000 (25,000)
(2) A SFATL
SreeRTet 0T 2 2,25,000 2,50,000
(3) =] <A
(37) TIHTCA 0T 3 75,000 25,000
() TR HTeTe 4 35,000 45,000
FA 6,85,000 4,95,000
1. uframfEt:
(1) 3T=et aREsaT
(37) ST Tt
(i) T 5 5,01,500 3,60,000
(ii) 3T 6 10,000 15,000
() e e 50,000 37,500
(2) =] aReEtEt
CHEIGAEEN] 25,000 30,000
() Wi (AT Tl 7 53,500 22,500
(9) Tehg T UhS I 45,000 30,000
FA 6,85,000 4,95,000

67/2/3 18



Qral & A1ed :

=ﬁ;c fareT 31-3-2015 | 31-3-2014
. 4 3
1 Eoplcic)teo)
(3NTeRT 3T -2 foraoT 3 o) 1,00,000 (25,000)
1,00,000 (25,000)
2. eI SROT :
12% et 2,25,000 2,50,000
2,25,000 2,50,000
3. TTEHIAT 0T
CECICIEED 75,000 25,000
75,000 25,000
4. TTHIATT T
T TS 35,000 45,000
35,000 45,000
5. T IRt
TRT 6,01,500 4,10,500
TSHEIT HoTaTd (1,00,000) (50,500)
5,01,500 3,60,000
6. 3T IR
E2ii] 10,000 15,000
10,000 15,000
7. Wik (AT )
N L 53,500 22,500
53,500 22,500
e G :

() 12% 19T 1 e 31-3-2015 =i fohar T |

(i) a9 HT 35,000 HT FH P a1 747 |
Jehg TaTE fae]or 9aR Sty |
67/2/3 19
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Following is the Balance Sheet of SN Ltd. as at 31-3-2015 :
SN Ltd. Balance Sheet as at 31-3-2015

Particulars Note 31-3-2015 31-3-2014
No. ® ®
I.  Equity and Liabilities
(1) Shareholders’ Funds :
(a) Share Capital 2,50,000 2,00,000
(b) Reserve and Surplus 1 1,00,000 (25,000)
(2) Non-current Liabilities :
Long-term borrowings 2 2,25,000 2,50,000
(3) Current liabilities :
(a) Short-term 3 75,000 25,000
borrowings
(b) Short-term 4 35,000 45,000
provisions
Total 6,85,000 4,95,000
II. Assets
(1) Non-current Assets :
(a) Fixed Assets
(i) Tangible 5 5,01,500 3,60,000
(i1) Intangible 6 10,000 15,000
(b) Non-current 50,000 37,500
Investments
(2) Current Assets :
(a) Current Investments 25,000 30,000
(b) Inventories 7 53,500 22,500
(c) Cash and Cash 45,000 30,000
Equivalents
Total 6,85,000 4,95,000

67/2/3 20



Notes to Accounts

Note . 31-3-2015 31-3-2014
No. Particulars ® @
1 Reserves and Surplus
ementof Profi nd Lowgy | 100000 | 25000
1,00,000 (25,000)
2. Long-term Borrowings :
12% Debentures 2,25,000 2,50,000
2,25,000 2,50,000
3. Short-term Borrowings :
Bank Overdraft 75,000 25,000
75,000 25,000
4, Short-term Provisions :
Provision for tax 35,000 45,000
35,000 45,000
5. Tangible Assets :
Machinery 6,01,500 4,10,500
Accumulated Depreciation (1,00,000) (50,500)
5,01,500 3,60,000
6. Intangible Assets :
Goodwill 10,000 15,000
10,000 15,000
7. Inventories :
Stock in trade 53,500 22,500
53,500 22,500

Additional Information :

()

Prepare Cash Flow Statement.

67/2/3
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12% Debentures were redeemed on 31-3-2015.
(i) Tax ¥ 35,000 was paid during the year.
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18.

19.

20.

21.

22.

que_g
PART - B
fawea-11

Option - I1
(i sraie)

(Computerized Accounting)

“STehST T THTONROT (ST AfASI) T T 37 & 9

What is meant by ‘Data Validation™ ?

WA T YT (Tl USH) T 47 318 ¥ 2 Teh ST 17T |

What is meant by ‘Cell Address’” ? Give one example.

TR AGTHT | Gl T AN AS-aIg e&dd AGihT & HIH A & | 5 2

Internal manipulation of records is much easier in computerized accounting than in

manual accounting. How ?

‘SRS ST Weel YOTIAT” (1.1, .UH.) ol T 37 & 2 $Hb (el &1 ol ol THEMSy |

What is meant by ‘Data Based Management System (DBMS)’ ? Explain its any two

advantages.

TH WEH Y (FHIEHAS) T HRAIT IUANTHAT i AT srewasharsti i 9fd
FIATE " THATRT, K 2

‘A customized accounting software meets the special requirements of the user.’

Explain, how ?
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23. TR Uh RETESR € | U H 38 Ura ST S STaeheT forr | S8 9o 9dq 29,000 ¥ |
TRIET ST SN A g e o |
(F) AT G oI,
(@) HEE e,
(M) & TRTEr e qen
() TReE T Sl T0MET A o G M |

QAT .

(=N

e H FEHR! a9 28 &, HEME 91 < JoT Jd- Hl 55%, GURETESR] €I & T Te fHmar
TT X JA o B 30%, TR-GREE W & o0 e fHar =1 % 9ot da &7 20%,
IREe YT GURETESH W% & faT T 4,000 WG T URae- 9ol R-GURETESRI ©IF & T
2,000 ¥ |

Priyanka is a supervisor. She took leave for five days during the month. Her basic pay
is ¥ 29,000.

On the basis of the following information using Excel give the formulae to compute :
(a) Basic pay earned;

(b) D.A.;

(¢) Hose Rent Allowance and

(d) Transport Allowance.

Information :

Number of working days in the month are 28, Rate of D.A. 55% of basic pay, HRA
rate for supervisory staff is 30% of basic pay, HRA for non-supervisory staff 20% of
basic pay, Transport Allowance for supervisory staff I 4,000 per month, Transport

Allowance for non-supervisory staff ¥ 2,000 per month.
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